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9.2 Multiplying 10s and 100s Page 1

Student Book pages 312-313
@
. * base ten
Use patterns to multiply 10s and 100s. ) [ e f’ !
R,
Problem
Dione is making safety pin necklaces. E
|

She uses 100 beads and 10 safety pins fo make
each necklace.

@ How many does she need to make 5 neckiaces?

Step 1: Use base ten blocks to model the number of beads in each necklace.
There are 100 beads in each necklace.

Use 5 hundreds blocks to show Ihe

bloit - -H [ Fiets] §s -1 ‘ -kl 1 Ly -
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These blocks show 5 x 100.

i

(5 N

Count by 100s to find out how many beads are needed for the 5 necklaces. I
100, 200, 200 __, 400 , _Go0O |

Diane needs 5@2 beads.

Step 2: Use base ten blocks to model the number of pins in each necklace.
There are 10 pins in each necklace.
Use 5 tens blocks to show the pins.

14 H
5 These blocks show § x 10.

Count by 10s to find out how many pins are needed for the 5 necklaces.

10,20, 30, 40 950
Diane needs 5() pins.
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o Name:

9.2 Multiplying 10s and 100s Page 2

Step 3: You can use tables to organize your information and look for patfterns.

Complete the tables below for up to 5 necklaces.

mumber of Number of \
necklaces beads
1 1 X 1 hundred = 1 hundred 100
2 2 X 1 hundred = 2 hundreds 200
3 3 x | hundred=3huwdieds 200
4 B % I hundred= Hhandeads 490
5 Sy} » =5 s 500
/ Number of Number of \
neckliaces pins
1 1 X 1ten =1 ten 10
2 2 X 1ten = 2 tens 20
3 Zx\ten = Jtens] 3o
4 Q x Ltens™ Biens 4o
\_ 5 Sy \v =5tenp 50

Reflecting

What patterns do you see in your tables?

Fodn 1€ wnutasing \o\}

\OQ S

Dy

lols. -
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@ Name: Date:

9.2 Muitiplying 10s and 100s Page 1

@ Student Book pages 312-313

1 Use patterns to multiply 10s and 100s. j

Checking

You will need

* base ten
blocks

1. How many beads and pins does Diane need for 7 bracelets?

Step 1: Each bracelet needs 100 beads.
Use base ten blocks to help fill in the chart below.

/ Number of Number m
bracelets beads

1 1 x 1 hundred = _| hugdired| | 50

2 X 1 hundred =2) hurdreo| o,
3 X 1 hundred = £ huedired a5

9y Vhundred= 4 han.| Yo
5 Y\ handued = S Wt SO0
(’) X \\(\U_M (o ‘l\km: Q:Ot._u_

\_ 7 - % V\umditd= Jhon @
Step 2: Each bracelet needs 50 pins. ;

Use base ten blocks to help fill in the chart below.

/ Number of Number of
bracelets pins

1 1x5tens=__5 tens RO.
2x5tens = _ O _tens \ OO
3x5tens=_|5 tens 15

H S lye= 20 ¥ns 205
515 kst A3 gl RSO
(0 X5 Fns= 20 bng | RO
© C S fens 35 g @
Diane negds ZOQ bgads and 55(2 pins to make 7 bracelets.
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@ Name: Date:

9.2 Multiplying 10s and 100s Page 2

Practising

2. Multiply.

a)7 x 10 = Z X 1ten
= Z tens
70

b)3 X U0 = 5 X L‘- tens

= 1& tens
-_1a0

¢) 50 X '-I=__5_tens><__'+__
=_ RO tens
-_ 200 S

d)§2‘00 = q X QVO tens

- l %( ) tens
-_1 %00

4. Find the missing number.
S0 .
a) 400 = X 100 ¢} x |00=4HQO
H ALY
b) 60 = ce X 10
¢) 80 = ES X 10

a700=7x _ 100

Hint: Think of equal groups of tens and hundreds. @
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Q

Date:

;-;.g"‘“.esson Multiplying 10s and 100s

1. Multiply.
a) 4/><\1 =__"L b) 4x2-=
ax10=_40 4x20= D
2 %100 = 4%200=_ 00
2. Multiply.
a) sx10=_20 e) 2x200=_£00

b) 60 X3 = Z&} f) 9x30= 270
0 c) 8 X100 = ZQOO g) 500 x5 = ngO

d 70x4=_220  h) 40x6= QYo

3. Kate found four $100 bills.
How much money did she find?

Uyioo= FYoo

4. Lang is building a model of the school using bloc
He bought 8 sets of 30 blocks.
How many blocks does he have in total?

8z RYo

84 Neison Math Focus 4

€) 4X5= A O
4x50=__RA0OO

4X500=__R2 5D

) 7x300= [0

j) 00x4= SQ()

) 10x6=_0 0O
) 4x800=_ 3200

byl=4
Hyio= YO
thloo: L{QO

Copyright © 2008 by Nelson Education Ltd.
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1. Since | know 23 x 1 =

Multiplying by 10
Multiply 10 x 16.

Name

R SR 3R 3 A R R R F R SR SRR AR @

) ) 1 x 16 = 16

Think: 1 x 16 = |0, so R R N R A A S E R AR A B A E RS
10 x 16 = {60 B E R R SR AR R R R SR AR AR AR
3R[2621598 8| See] 5ol oe] a2l s e elo | sReie el sh
3|15 sac]seRlseels el sec suel s s SR sac sizlsh
e PR B R E AR A AR A S B AR AR R RS
\ 2aR 20 7a2 582 7o2 | Saz sagi ezl 525 el s s oug| R[5 he
When you multiply by10} e oeel e s e e e SRS he she|s e e pae 3
think of rnulhplylng by!. El: 553 03[583(5e2 Te3]5ecve 2:122132'13 i LT X X P
Then write aO. S\lg:\:z '3:'32332:'3 |ZZ- Sn : le lZZlg 132‘\:2 Zn
BB R e F R AR R R E S h AR AR A E A n a5

10 x 16 = 160

Complete each sentence.

| also know 23 x 10 = _£0

3. Sincelknow98 x 1 =

| also know 98 x 10 = ﬁ@

5. Since | know 60 x 1 = _()_C)_, 5
I also know 60 x 10 = _60_6

s R T e R T R R e N

Multiply these pairs of factors.

7. 885 x 1 = %g
85 x 10 = 85D

10. 1 X 443 =_Ll.'_@\__. 3
10 x 443 = _ Y 4

Multipty. )
13, 10 X 35 = SO

s Gt H R

a.38x1=éa.
38x10=§_@

11, 20><1=Q©_
20 x 10 = o)

e T e T T A L e R sl e A B A e B T e

14. 69 x 10 =(Oj‘i_.

2. Sincelknow 45 x 1 = %5_
e

a. Since l know 1 x 36 = &

| also know 10 x 36 = _iéo

6. Since I know 1 x 72 = j_l_
| also know 10 x 72 = 72D

| also know 45 x 10

R e R R R

0. 572 x 1 = _C5 ] A
572 x 10 = _ S /20

12.1><76=_l(°
10x76=_;7_£30

15, 546 x 10 = _ SO @

e 41 x10=_4 [0 10 x 768 = 7 680 4 10 x 80 = _300

24 Reteaching

For use with MathQuest 5, page 69

MathQuest 5 TRB



Date:

S WORD: Eﬁ'@m
Tanvi was selling boxes of candy. Each box had 6 pieces of candy in it.
The first week she sold 10 boxes. The second week she visited an apartment building
, where she sold 100 boxes. How many pieces of candy did she sell in all?

‘There-afe place-value’ o
f 1. 5x10=5_

2. 5x100= 200

3. 5x 1,000=_F..LU_30
4, 10x3=i_o

6. 10x300=_ 2000

7. 500x4=2000

8. 50x4=_200

9. 40x50=Q2000

10. 2x20=_10_

11. 2x200=_H OO
12. 20x20=_100.

Reteaching Math: Multiplication & Division © 2008 by Bob Krech, Scholastic Teaching Resources

60, The'second weekis. | gAY 2]
i 6100 eoo Add600 - i  How can multiplication patterns help you solve a problem
i and6(toseethatshe - : |ike 16 x 1007
11;sold 660pieces of candy, b t1=1b =o

lb X |Co= (60O
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Name: Date:

Multiplication Patterns

L 0 O S S e RN
. 10x8=00 6. 400 x 40 = !kJ_O_OQ 11. 9%20 = _Lcd_

10 x 80 = _DOO 7. 1x400=__('f20 12. 90x20= LT O
3, 100x8=_8)_@_© 8. 40 x 40'= OO 3. 900x20=189°°
4, 1,000x3=_%_202.0 9. 9x10=_HO 14. 20x50=_100C
5. 4x40=_100 10. 90 x 10 = _AOOC 15. 20050 =_10 OO0

lO Qoo

""""" RTEw S e R R R R S e

16. What strategy could be used to solve 8 x 6? Explain. _
T eouid use. \org=ko-\a ©°or I3

T ot Use el @3 12 ard

Aalolo 03 =

17. What property of multiplication tells us that if 3 x 9 = 27 then 9 x 3 = 27?

The © 'S = er % ONE._ ‘H\L
5&«({\2@@—\?\43 s cotl  disFrlouhvl
G12=D) 5 dho Some 34977]

18. Give an example of a fact for the Half-Then-Double strategy.

@ﬁ(% 39\71 {:wm éjc@,ﬂ\&

(D=l mj\ o&gwtm o gt

EL{=32.

eranching Math: Multiplication & Division © 2008 by Bob Krech, Scholastic Teaching Resources
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9.3 Multiplying Using Arrays Page 1 Pa 9€ 3 [_5 311
@tudent Book pages 314-317 ‘Ft l A ‘ l @
Use arrays to visualize easier ways to multiply. ) * grid paper T @

e
Problem tm:;:"j
Alec has a game board that has 4 rows of 12 spaces. * pencil ﬁ
crayons J
e

How can you calculate the number of spaces on
Alec’s 4-by-12 game board?

Step 1: The game board has Y4 rows of 12 spaces. L)L
X1

Sketch it on grid paper.

Rb!

a4 L}XIO + H_X_f;:"

—

O 14, @

Step 2: 4 X 12 tells the number of spaces.

You already know 4 X 10 = .

You also know that 4 X 2 = & .

Split the U-by-12 array into a 4-by-10 array and a Y4-by-2 array.

Colour and label both arrays as shown below.
UKio=He = LAx4=9

Y rows of 10 Y rows of 2
pu— " — P

Hx=g

O X R=4H0 @

[ 362 | Learning BLM 9.3: Multiplying Using Arrays Copyright © 2008 by Nelson Education Ltd.



o Name: Date:

9.3 Multiplying Using Arrays Page 2
0 Step 3: Hrows of 10 =4 X 10 O
Yrowsof2 =4 X 2
Use 4 X 10 + Y4 X 2 to calculate 4 X 12.
Ux12=4x10+U4x2
ux12=_HO +_ 9D
4x12 =
So, there are H:ES spaces on Alec’s game board.

Beflecting o

How does splitting an array into smaller arrays help you to multiply?

\DQ e an eas®C nwimba &mjrﬁm(o
ke 4 x)0= 40 Yo hunk wida

U x2=% 10 ymake  Yxl2<=48

What other ways can you split the Y-by-12 array to calculate 4 X 127
e coun Uso. n o\

ALXx \2=ad Yhan  daublg
@ x 1\ Z 3%

et

@ O
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)  Multiplying Using Arrays

Tait- (age 31 ST3Y

Use arrays to visualize easier ways to multiply. J =o \ — \

1. Fill in the blanks.

a) AIEELEEEDN
(i oo
R A A B T R

0% b0 X2
6 X 17 = 10+f5---f_7

x ——
ex17=_00 +_ 43
6X17 = 1052,

2. Sketch arrays to help you multiply.
a)s5x13=__ €5 b 7x15=

.:'1
g
B R 3
: b
A el 4 Tl B
Tl ]

At-Home Help:

You can use an array to help
you multiply. For example:

| want to calculate 8 x 12.

8rowsof 10 8rows of 2
8X10=80 8x2=16

8X12=8X10+8x%X2
8X12=80+ 16 J

8X12=96
.

____/DS c) 2X17 = ‘Zﬂ

t_ xS  2xje . »7

s & 15 7X |

-—

| 1 |

e .
*'f% '. ]

a0 4+ 4

B ]
5x)0) G x3)
. Sketch an array to show that this state

HX It

e, s

x o

4

4x26=4X20+4X6

Ux= To + I

LHxNp= Jo¢

Copyright © 2008 by Nelson Education Ltd.
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Multiplying with Arrays
Frond end .;
@ Use easier numbers to simplify multiplication. Wﬂp[@;ﬁm

1. A kitchen floor has 8 rows and 17 columns of At-Home Help
tiles. These arrays show 8 X 17 by showing Using easier numbers to muitiply

8X10+ 8 X 7. is useful when one factor is
greater than 10.
3IXi{8=3xXx10+3 X8
3X18=30+ 24

3xX 18 =54

Or hsing other easier facts:
IX18=3xXx9+3x9

8 x17 = 57}()0 1 8)(7 3 X 18 =27 + 27

8 X 17 = ?D-t- 5(ﬂ e
5x 17 136
2. Complete. 0 k.
a)2x56=2xXx50+2xX6 c)4><29:4><gé+4><i_
ox56=100+ |2 ax20=10 + lf

2x56=_||o ax20= 1l
B)5X14-5x7+5x 1 d6x22=-_Gxd0+ lbx&u

sx 4= 25, 35 . 6x22= 10+ |2
5x14= 10 6x22= 13
3. Find each product. C\/R—?Dﬂf H'/;‘m?‘o 49
a) 9 x 18 = F7 : c) 4 x 19 =7 SN—
qQx10=90 + gx§= T 4y IO=HO  + wxa=3b
. dot72= ) b 53 3'4‘?"'3‘9"“7(4
2 0+
b)—,7x>< ‘102‘1-_: 8‘1‘ d)M:"— O.b"f’
Tx 10= 704 Tx2= 14 g X30a40 4 Tx3 =AY
-0 + \& = 849 Q40 4 DY =2k

78 Multiplying Greater Numbers Copyright © 2017 by Nelson Educe



@ Name: Date:

9.3 Multiplying Using Arrays Page 1

gmem Book pages 314-317 %
You will need
Use arrays to visualize easier ways to multiply. ) * grid paper Heamy

T
t

Checking

it
|

* pencil f
crayons
i J

1. a) Complete the number sentence to show how the 5-by-14

array is shaded.

O Look at the light grey part of the array.
How many rows are there in all? 5 Yo wsS

How many light grey squares are in each row? fo
There are 5 X é squares in the light grey part of the array.

Look at the dark grey part of the array.

How many rows are there in all? :S
How many dark grey squares are in each row? 8
There are 5 X squares in the dark grey part of the array.

The 5-by-14 array combines the 2 smaller arrays.
Complete the number sentence below.
5X14=5x% E)Z + 5 X @@
b) Complete the number sentences to calculate 5 x 14, 1-9\'} LIL
0 5X14=5X% + 5 X .

sxte 30 1 HO x_S ®
5xiu=_"J0 S 70

[ 360 | Checking & Practising BLM 9.3: Multiplying Using Arrays Copyright © 2008 by Nelson Education Ltd.




@ Name: Date:

9.3 Multiplying Using Arrays Page 2

O O

Practising

3. Look at the different shades in the arrays below.
Complete the number sentences.

a) - _;“; ! d\i?(k

6X12=6%10+6Xx_H

sxt2=_(o0) +_ [

6x12= 75 A

9%
X

b) KK

2y
AIXIX

7x11 = ‘7 X @ + _7 x5 %%
7x1=_43  + @5 sl
7x11=_"77 )

9. Sketch arrays on grid paper to show that each statement is true.

a)5X28=5x20+5x3
b)5x23=5x10+5X10+5x 3

9 )5 X23=5X7+5X7+5X7+5X%x2 O

Copyright © 2008 by Nelson Education Ltd. Checking & Practising BLM 9.3: Multiplying Using Arrays | 361 |
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“ Name: Date:
e \ext
9.4 Modelling Multiplication page 1 P“fj’ﬁ 320-33 |

Student Book pages 318-321 ,H: I _ I ‘+

‘ Modelling multiplication as equal groups. j

Problem
Annie is making 54 leather bags.
She sews 3 designs on each bag.

@ How many designs wiil Annle sew? Use o P‘q ce volué

Chow
Use expanded form to calculate. =
5 tens + Y ones Thousands Hundreds __Tens Ones

X3 AN €
Step 1: 5tens x 3= |5 fers g <|”|| ,1‘/
O L

Step 2: Yones X 3 =
l o 9

Step 3: 15tens = _| RO
Step 4: 12 ones = _’2_;_

Step5: 15fens = _’QQ_ (see Step 3)
+120nes=F )3, (seeStepl)

Total =_| (pQ,
Annie sewed _’Q&designs.

O

Copyright © 2008 by Nelson Education Ltd. Learning BLM 9.4; Modelling Midsiplication | 367 |
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9.4 Modelling Multiplication Page 2

_Reflecting

How does grouping tens and ones help you with multiplication?

1 Know i*n(ﬁ“ -acin fhﬂt" has 1

O

of We_e nome B3 X3 3
as 5’@ + 2 onol
X i £-a cfh f“ﬁ,.{ e }'{ .
. 4 y
Sam serves Y4 frays of salmon. Thous . ’ =S
Each tray holds 32 pieces. ‘
How many pieces of salmon does Sam serve? AR
gyt
Follow these steps to calculate 4 X 32. /
1|
Step 1: Expand
32 s _E)_ tens + 2 ones - A+
x4 X 4 -
4 0nes 4« l 20 g
step 2: Multiply 4 | & Rens () ) .
4 x 32is _L_&ﬁ_ W-

Model 4 groups of 32 with base ten blocks on the place value chart.

Step 3: Add
32 s 3tens -+ 2ones 3&
x4 x4
& tens S

+ & ones 29

]R8 \ 32
Sam served 1 28 pleces of salmon. Ta 3




e Name: Date:

Multiplying Using Expanded

Multiply 2-digit numbers by 1-digit numbers
using expanded form.

1. Multply | Automo ot NN
a) 5x22=9 b)3x64="3

You can use expanded form to

20+2 ok gt mumbers For exame:
oy a0 x ~ | want to know 4 X 36,
\ \08 C(&xs? 120 (bor\a)’JBGisthesameas30+6,
+ | * l aaC‘ """3) or 3 tens + 6 ones.
. 0 I will multiply each part
2. Multiply us!in‘g expanded form. \9 separately by 4.
. a) 2xX19 c) 5x33 e) 426 30;:
10 + 9 D+D Q20+t b 120
Ao tEs T |Tm
A8 % ag o J
| -‘5%' 4 Ly (O
b) 3 X 51 d) 6 X 82 f) 2x48
L 3 *__L xR
* o) pa ol

L!

oy
3. Mich'aa's%chool has 7 classrooms. There areG]23 students in each class.
How many students are at the school?

ABxXT= A0 + 3
Pas 1

O

» | *—l:tu
| &

Copyright © 2008 by Nelson Education Ltd.
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Multiplying in Expanded Form

Multiply 1-digit numbers by 2-digit numbers using
expanded form.

1. Complete. At-Home Help
The expanded form of 28 is
a) 46 % 9 c) 7889 2 tens + 8 ones
4tens + 6 ones 70 + 8 or 20 + 8.

X 9 X9

36 tens + 54 ones _’FE'SB

41 tens + 4 ones + 72
H 14 702

b) 89 X5 d) 36 X 8

8 tens + 9 ones 30 + 6
X5 X8

40 tens + 495 ones _RQH0
H4oo + 49 + HEg
H45 A 88

2. Stanley can display 37 models on 1 shelf How many models can
he display on 4 shelves? 37 x4 = 148

>0 ¥
felle

+ ag
3. Circle the letter that is easonable estimate for 96 X 5.

(K more than 450) B. less than 450 C. less than 45 D. less than 30

Explain how you know. estimorte ¢ Check.
loox § = 500 gqo + b
*t 5
\-l g0
30

M
spyright © 2017 by Neison Education Lid. Multiplying Greater Numbers 79
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9.5 Estimating Products Page 1
O Student Book pages 322-324

1 Develop strategies for estimating. J * counters a

Problem J
8 soccer teams were playing in a tournament.
There were 9 players on each team.

@ About how many players were playing in the tournament?

There are different strategies for estimating.

Practise using easler numbers. gw94s __ eshmade h@" ‘
There are 8 teams with 9 players. g x 0= 80
You are trying to estimate 8 X 9.
O }hink about easier numbers to use.
9 is close o 10.
Think about 8 X 10.
You can count by 10s.

8x10=__30

Since you changed 9 to 10, there are a few less than _@_ players altogether.

Try the strategy again.
What if there were 6 teams with 7 players on each team?
esh
Think about easier numbers to use. bxl= h‘l‘?"dw
6 is close to 5. Sx7 35 MOfﬁmq'h
Think about 5 X 7.

You can count by 5s.

5X7= 55 )

G ‘nce you changed the 6 to 5, there are a few more than _éé__ players altogether.

§ 3721 Learning BLM 9.5 Ectimating Products Copyright © 2008 by Nehson Education Ltd.



o Name: Date:

9.5 Estimating Products Page 2

Use easler numbers to estimate the products.

7X9= Qﬁ
Change the factto 7 X 10 = 0 .

7 X 9 is a little less than ZQ )

8XxX6= 58 Q_,Q ) w'a/
Change the fact to ? X 5 = H‘O + g |0xla-;690
gxbis__HE , gxlp = HE

1t XY= Hfi

Change the fact to "* x_JO = 4o ."' "l‘
1 xuis__ 4

9x6=_54 O
Change the factto __ 10 x o _Q_Q_“ b

9X6b6is 5

_Beflecting S

Was there another way you could have changed 9 X 67 Explain.

T could a x5= 45 and add 2 o “Pﬂfwe,

Qy S= 45 ¥4

q xi = 54

O

Copyright © 2008 by Neison Education Ltd. Learning BLM 9.5: Estimating Products | 373 |



Estimating Products

| Choose when and how to estimate. j

1. Estimate each product. Show your work.
a) 5x44__5 v 4O = 200 d7x31 7 x30° 20

b)8x62_& x LD~ H8D  e)3x82_ 3x 80~ 240

9 9x28_10XART 280 fHax73_ Y x70=3280
oop GxB30= K70
2. Decide whefher you can estimate to answer. Then answer.
a) Lang, Ken, and Joshua each have $42. Do they have
enough money to buy a second-hand bike for $150?

) UA % 3= C""}gﬁ_\,&
O Ho X 3= 13O L 3
No, they only Vu::t.\/e‘i \OWSLO. y a%

o‘—"
b) Each bookcase contains 64 books. There are 4 bookcases. "'——\-Ta_:@
Are there more than 200 books?

bix = Clre ek

GO x 4= AHO Lo+
\/?5 N ‘Pﬂeﬂ (S aver sloo ” X L\'
€) 5 cartons hold 54 juice boxes each. Are there = L’O
enough juice boxes for 250 students? Al ‘*’

Sox 5= 2850 C_:_h_’:E'_L+ "

50
\lfﬁ, Yhore 15 over &80, " 5
M) 250
O -
Copyright © 2008 by Nelson Education Ltd. Chapter 9: Muttiplying Mlﬁ-Dlgi‘l Numbers 87
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Multiplying with an Algorithm

@ Multiply using a procedure.

1. Estimate each product.
a) 139 X9
139 x10= 1290
140 x | = V=0

b) 358 X 8
350x 1 0% 3600
Hoox & = 3200

c) 729 X 2
HoO KA~ 400

d) 298 X 5 e) 498 X 6
porss |DO0 =n0 7 s

At-Home Help

One multiplication algorithm, or
procedure to multiply, is this:

32
174
x5
870
Because
4 ones X 5 = 20,
or 2 tens 0 ones.
7 tens X 5 + 2 tens more =
350 + 20 = 370, or
3 hundreds 7 tens.
1 hundred % 5 + 3 hundreds
more = 500 + 300 = 800,
or 8 hundreds.

O

- ZO 00O

2. You should have 3 estimates that are 1500 or less.
Calculate their products.
¢) 490
o) 1400 o 1390
3. Estimate and then calculate.
a) 306 Zoot A0+l  b) 62 boo + 2019
X7 " 7 X5 ~ 5
aL?O
30 3000
HOO)("}-'—ngo 3 U 6001523000 N Re O @
NEE L

82 Multiplying Greater Numbers
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9.6 Communicating about Solving Problems page 1 Mouﬂf\ w

Student Book pages 328-329 D 0 A‘ _a
&2
Explain your thinking when solving a problem. ) P @ _ am

Problem
Horses age more quickly than humans.

For every year a horse lives, it ages 3 human years.
Ken wondered how old his 8-year-old horse would be in human years.

@ How can Ken explain how he solved the problem?

Understand the Problem
What do you know?

For vors \ Neoar o \nors-f_ Qa€s
\S £ g&mﬁ? as = hu\_m_,a_m \{G’C&\L

4 A horse this old... ...I8 like a human this old \
1 3
2 é
3 9
4 /3
5 | %
6 l
\ 7 2 Tl orse ) fl

| e
Make a Pian B ¢ R = 62‘1' O%LYMG(&/

Multiply to find the answer.
How do you know that you can multiply? -0

B %327 T Wandtmew ey old Hhe
\r\o\(se_ FONEYER @muvm WM (XS

.
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o Name: Date:

9.6 Communicating about Solving Problems Page 2

Carry Out the Plan

Whal.is the age of the horse?
J@xf}z? 3 can yound \OXB'&SO

"i.("i X 3Z30— @ Lm:“n{,{i«. A_Qro>S of3 .
¥ x> =2 o ek %\L%)
Look Back to Check —

Is your answer reasonable?

Nes e cousk Br3= 3'—1‘ So %

horse. il ke A% humans Neasold.

_Reflecting N
How could Ken have explained his plan more clearly?

He ooudd of told Whowr Stradeay
o usSed ‘o col cplodX. ~

Look at the Communication Checklist.
Do you think you have given a good explanation to how you solved the horse problem?

Why or why not? Communication
_E\MQMSA_ \0O A2 =30 Checklist
UNATUA S Q__%muﬂ?g - Cd v Did you show the

. o right amount of
eSS e 2=, B
k,LJ’\(u "C_L’\ S a QLL)M €S (} /ﬂi@ v Did you explain
L your thinking?
J

6—,

[378 | Learning BLM 9.6: Communicating abous Solving Problems Copyright © 2008 by Nelson Education Ltd.




Name: Date:

Foars #)—/]
Explain your thinking when solving a problem.j

1. Emily earns $28 each week for doing yard work. At-Home Help
How much money can Shee/ar_anS\weeks? Follow these steps to help you

5 XAZ =__I_"£D ' o+ communicate about solving
5 A | X 22—_—&' problems: 5
XA0= 10O Step 1 Make sure you
5 XS = Ho0 Ernaly o understand the probiem.
eam' 4 ,"lo Step 2 Make a plan.

100+40 = 14D |\ 5 Leeke.

Step 3 Carry out the plan..

i : Step 4 Look back to check.
- Jade, Cole, Michael, and Hailey each brought e

2
O 46 brownies to the school bake sale. How many | Communication Checklist
brownies did they bring in total? v’ Did you show the right

L\ X G = Lf % ‘jia 1— LI_ X& amount of detail?

¢ Did you explain your

| O =+ °’2|+ thinking? J

g q’({}\[fgumf bvw%%'r 134 Joyoum‘ies
o\ togethar,

3. Ken earned 72 points on the First day of the summer fair.
If he earns the same number of points each day for 3 days
will he win the prize for 290 points? Explain your solution.

\ T mode Sure T uinderstoed o prden —bod all
W dai ovedaldl: Day | T2pomits
| DCUjZ 12 poTis Cod 0221517
'Dcujj 712 poivs J0+2
L T Lowred tha spuation “—axz=a, 3
37T Q%@p&d &lotrm N E- T
fsnh @nsul fo din W A G T

\
88 Nelson Math Focus 4 pﬂm{;‘fm@w (o
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g\.@% 2 2k wours @
3 Use erpondusl -Q“m 4o wruliply

Communicate About
Solving Problems

@ Explain your thinking when solving a problem.

1. Name the steps that Chantal used to solve At-Home Help

this problem. . Problem solving involves
Chantal’s baby brother is 17 weeks old. * understanding the problem

How many days old is he? » making a plan to solve the
Step 1 | :j? sl; j:l 1: ,:w\a_ :Yoljﬂ]j probl_em

e carrying out the plan

My brother is 17 weeks old. * looking back to check
| know there are 7 days in 1 week.

Step 2 Qiau.vt aud Ho qurch‘an M x7
| will multlply 17 and 7. Sha QSﬁmM
Step 4 \'0%

Step3_u_$_df19\ 7 B0 'l'eQY ok (s M‘SW
{S € 10 Coe
10+ 7 CQ‘OLCU-'QO':G If m;%)r%ther were 20 weeks old,

X7 N S Ukl he would be 140 days old. O
70 ‘Cﬂ-POU\A.QQ( o) S0 119 days is reasonable e <hmdu ¥
+49 7 EW{'\N{'O for 17 weeks old. 06x 1= 140

L o) o N N
My brother is 119 days old.

2. Show the steps as you golve each problem.

a) At a party there are 36 tables. Each table will have 5 balloons.

\3Wba o\zs will there be in a{f\.ou) \OW\QOYW < ci'\'
S 8
ggm;hm (s) Dox'S

to Salve--exp siceel oy 30TE

X
L} CNC\L d.t u,s( éﬁﬂwm Yo Sz 200 —-———-—3%- €
b) It rained for 3 days. Hov\;many hours did it rain? : [

\ understand d&“mmwww\mm

80 Multiplying Greater Numbers 73‘ M s :\b WM
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o Name:

9.7 Multiplying 2-Digit Numbers Page 1

Student Book pages 330-332

expanded form.

Multiply 2-digit numbers by 1-digit numbers using

J

Problem
Diane lives near a beach.
She collacted 14 shells in 1 week.

@ How many shells will Diane have in 4 weeks?

There are Y groups of 14 shelis after 4 weeks.
When there are equal groups, you can mulfiply.

Step 1: Estimate first.

Yy X 1disabouty X 10 = fiQ .

I predict that Diane will have more than

Record them using the expanded form.

__io_ shells.

Step 2: Make 4 groups of 14 with base ten blocks.

f Hundreds

-

[
X 4

Date:

s base len
blocks r !

* aplace [P=EEEIE=IE=
value chart I_
et

10+4
X 4

Tens Ones\
G
S
| y

S

(382 | Learning BLM 9.7: Mulsiplying 2-Digit Number:

Hlo

40

b

50
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° Name:

9.7 Multiplying 2-Digit Numbers Page 2

Step 3: Multiply io show the number of tens first.

14 0
x4 Y
4o) (number of tens)

Step Y4: Complete the multiplication.

14 0 +u4
x4

-+

-

4o (number of tens)
+ b {number of ones)

6ilp (total)

Diane will have ﬂg shells in 4 weeks.

_Beflecting

Dote:

YESJ \ve rause N

looth PX,P@AQU(_‘I Sem

Suppose that you multiplied the ones first. Would the product be the same? Expiain.

Hne Pn}ﬁlUCi'i
Al H Mmes mody ddions. Car

10 + 4 >

* 4

. ond draditionat t

\4
4

e

Copyright © 2008 by Ne'son Education Lrd
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@ Name: Date:

9.7 Multiplying 3-Digit Numbers Page 1

.Studem Book pages 330-332

* base ten
blocks

Multiply 3-digit numbers by 1-digit numbers using
expanded form.

./

Checking

1. Model with base ten blocks. Multip!

a)300 + 20 + 7

is the same Qs
P 5

Do not regroup.

Fill in the rest of the question.

300 + 20 + 7
® . 5
5K3s o) 1500 (number of hundreds)

« 26) 100  (number of fens) | I ! D D

:x.7) 35 (number of ones) (p

‘/%\/(tofal altogether) /
Hand!,

b)Model 5 groups of 327 with base ten blocks.
Remember, do not regroup.

.= | (o

35 (number of ones)

1 QO  (number of tens) S x 20
+ LS90O  (number of hundreds) -5 x 300 .

0 ) (035  (total altogether) \ @
)

| 380 | Checking & Practising BLM 9.7 Multiplying 3-Digis Numbers Copyright © 2008 by Nelson Education Ltd.




@ Name: Date:

9.7 Multiplying 3-Digit Numbers Page 2

O O

Practising
7. Estimate, then calculate.

a)3 X 986
986 is close fo 1 ©OCO so I can estimate by multiplying 3 x 1020 = 300
986
y . Qoo + O+ P
2100  (number of hundreds) 2L9,0Q

AHO (number of tens) 3 x 90
+ ﬁ(f) (number of ones) 2 X (0

6)\7 5 8(totol altogether) .

b)5 X 18t
181 is close 10 2()() so I can estimate by multiplying 5 x OO = 1O 00, ( )

B o+ ot 1 X 5

X5
500 «0oo X\;\\_‘“;;%
JOO &0 r 5B
+5 1 x5
505
)7 X 332 |

332is close to 300 so can estimate by multiplying 7 X j@ =X
32 Rooc 30 v A ]

——

X7
RVOC0 1 x 30O
V0 7x 30

+‘Uf TXK

® 3.4 O

Copyright © 2008 by Nelson Education Ltd. Checking & Pracrising BLM 9.7: Multiplying 3-Digit Numbers | 38t |



Name: (AT IKeg f Date:

o ? Multiplying 3-Digit Numbers

‘" 4 - /’ 1

, Poge- 2%

Multiply 3-digit numbers by 1-digit numbers j . |"",j

using expanded form.

1. Multiply.

At-Home Help
a) 3X242 =8 b) 2 X 567 = B You can use expanded form to
multiply 3-digit numbers by
200 + 40 :(— ; 500 + 60 : Z 1-digit numbers. For example;
| want to know 4 X 321.
g @ *3) { L{ 7’@) | know that 321 is the same as
él& o Clox3) [ 20 (Goxz) 300 + 20 + 1.
__O____,@OO *3) - gcO (Soo +@LA will multiply each part
7 L 2 W"‘? separately by 4.
2. Multiply. 300 + 20 + 1
a) 2X122 ¢ 3x254  e) 4x 197 e
|cor a0+ R 200 150+ 0019077 80
— _+4
x % * 3 v Y - 1284
D 6‘ Uas T2 —m—-L 4 X 321 =1284 ’
3 t o;a% [ 50 3 &0
0 \“'6\00 Lo + ,Qg
b) ) e d) 6624 °2 1) 247"
B0+ 10T footasty Goo¥ 70T
Y 5 ' b X, ol
o0 sork) 30O (oo )kQ) 33—0
g PR &8 CRie oY 199
)(5-) 50 /((a) + o Lk --éﬁ'?__) - ""'
=25 3T F Er;
3. Estimate to check your answer for each part of Question 2.
a) §xr [00=200 0) 3 X300= 900 e) “t x dop = 00
b) £ 300=|500 d) 6% 600 = 3b0D f) Q x So6 = [©00

Copyright © 2008 by Nelson Education Ltd. Chapter 9: Multiplying Multi-Digit Numbers 89




Multiplying 3 Digits by 1 Digit

Multiply 3-digit numbers by 1-digit numbers using
expanded form.

1. Complete. At-Home Help
372 X 3 is about | 200 Estimiating Thélps you to check i
Hoo X PN A © O that your answers are reasonable. ,
o 298 x 5 is about 300 X 5,
300 + 70 + 2 or 1500.
X 3 200 + 90 + 8
— o0 X5
- ?—@ £ 2e 1000
+ 2 1 2 450
T [ e Vi +_40
2. A bottJe of vitamins contains 120 tablets. 1490

How many tablets are in 8 bottles?
Circle the most reasonable estimate.

(A. more than % B. less than 800  C. more than 1600  D. more than 80

_ eshMGd-e_
Explain how you kcr;lcz:. l0O &+ Ao B8 OO L= o0
.’__._ D
| 2O X%/ ____,.%;56- T codN €S—Hmo;GU
1 0O Q00 IS lowd §0 N

o
3. Connor’s family’s cable bill is $126 every 2 months

a) Estimate how much they pay

in1year. (0O ~ &0
P o
a\oouj— —]a0 + l@%%

4, Jasmine often visits her granado other on weekends.

It is 247 km there and back.
a) Create a 1-digit by 3-digit mu

vy,

20 x
\ b)%jlculate how much they pay

in 1 year. [Qb?kb’ Sb
Voo A 20 T
% o
— 3 b (9
v a O (2o ¥k
\*Q;OO (100 Q :
=5 6 |

ltiplication problem about J smlnes visits. -
visiTs:

‘;(‘f

1ouUD \P(\Od(\j W does SW fyowel o
247 x i = 9B
b) Estimate the answer. c) Calculate the answer.
2 00 x4 =800 200 * %o*l
DOKmM. ~
aloout 800Km — qu)
3017 by Nelson Education L MultiplyingG r Numbers E'IC
T Red (o)




o Name: Date:

9.8 Multiplying Another Way rage 1

Student Book pages 334-337

You will heed
l eb $
‘ Multiply, regrouping as you go. ) ! bfoii:n \@\
L ~,

Problem
Michael has 56 hockey cards. Pedro has twice as many.

G)) How many cards does Pedro have?

Twice as many means 2 times as many. U
Multiply 56 cards by 2. Q‘ X Sb L_

- Step 1: Estimate 2 X 56 first.

I know that 2 X 50 = O . e'ﬁ“{"\\.’m{'ﬁ» ]S‘\'

So Pedro has more than SQ Q cards.

Step 2: Multiply by making 2 groups of 56.
Use base 10 blocks.

/Hundreds Ones 2% 56 =_U&,
+1 Y
D . .o A

Step 3: T‘wre are 2 X 6 ones.
2XxX6=12
Regroup 12 ones as 1 ten, 2 ones.

Hundreds Tens Ones \ 2% 56=__

=
e

Copyright © 2008 by Nelson Education Ltd. R‘e‘g { : i Learning BLM 9.8: Multiplying Another Way [ 387 |




o Name: Date:

9.8 Multiplying Another Way Page 2

Step 4: There are 2 X 5 tens + 1 ten.
There are 11 fens.
Regroup 11 tens as 1 hundred, 1 ten.

ﬁ-lundreds Ones \ 2% 56=__
Q 11
\ 5 6
) x 2
1 2
\_ J

Step 5: Add.

100+ 10+ 2 = llaz

2 X 56 = \ \ ’&V
So, Pedro has I \ &/ cards.

_Reflecting

How did using the place value chart help you fo multiply 2-digit numbers?

The place yalue Chiogt showed

LAY e VOO DUUP -
- </ {

b) c) d)
+3 ) 514 “'l*B‘//
) | 6|8 2 9] 3 f12]9
x\\FSS TE—T_E;? X \:f/
1131010 [ 171199 171

Qx4:_

[ 388 | Learning BLM 9.8: Multiplying Another Way Copyright © 2008 by Nelson Education Ltd.



8 Name: Date:

1=
[
i

: L@E‘éfm Multiplying Another Way

I Multiply, regrouping as you go. j

1. Multiply by regrouping.
a) 43 d 243 g) 492 | Youcan multiply by

X5 X5 X3 regrouping. For example:
AL 5 24 S /% 7& | 1wanttoknow 3 x 384. ;
{2z N 41 1Y As ) multiply, | will regroup
b) 152 e) 548 h) 129 ones, tens, and hundreds.
X4 X2 X5 184
@ D% 199 ¢ K] 5 X 3
R~ it 14 1] 1 1152
¢ ‘461 ) 617 ,“} 257 |3x388=1152 )
O X6 x7 X2
27 66 CIN Sy
2. a) What multiplication equation
does this modelshow? __ 253 X 3
[ Thousands Hundreds Tens Ones |
o o0aa
[~ - I - ]
!
aao
L i i

b) Calulate the product. '] & ¢

A 53 %3 =759
o
d 53
.~ x 2

-ﬂ
90 Nelson Math Focus 4 7 5 ? Copyright © 2008 by Nelson Education Ltd.



Name

When you multiply ldrge numbers by a 1-digit number,

Al
muliiply each digit of the top number by the bottom 230
number, starting with the ones place. Regroup if the x 4
920

product is 10 or above.

s AR U T e

= s, Sl

are sold each year. Pancho's has been 310
have been sold since Pancho’s opened? x 5

1559

Plane tickets from Miami, Florida, 1o Denver, Colorado, cost $522 each. The 4

members of the Wilson family are ina tickets from Micmi to Denver. How
much will the tickets cost? £2 Dgg 529 9
~ 4

‘__..,-—I-_

Megan bought 5 large bags of peanuts. There are 21 0 peanuts inae:chsbgg.
How many peanuts does she have inali? _J 080 210
5

At Pancho's Restaurant, 310 burritos
open for 5 years. How many burritos




o Name: Date:

9.9 Choosing a Method for Multiplying Page 1

0Student Book pages 338-340 o

You will need

* base ten

blocks ;

Choose whether to estimate or calculate, and explaiﬂ

your multiplication method. 2

Problem

Sometimes you can find an answer using estimation.
Sometimes you can solve a problem using mental math.
Sometimes you need materials to solve a problem.

Fle RS

4
~

@; How can you solve each problem?

1. You and your friend are buying 2 bottles of water. me Ta“g‘—
1 bottle of water costs $1.25.
You want to make sure you have enough money to buy 2 bottles. Qfl\(’ﬂd\ C;? ¢ 50.
O Would you estimate or“he cost of 2 bottles?
Explain or show what you would do.

T can uge a Chat +o  shew Spp
counting e T woudd veed HA.50. T cpudd
estivald to cliock. ($9.00 xd = +d Od)

2. There are Y5 pencils in a box.
You want to know if there are more than 150 pencils in 3 boxes.
Would you or caiculate the number of pencils?
Explain or show what Iou would do.

Uk could eshmale hiahar 50 x3=150
e would e less ™ Yhonn 150
\@MQ\& D Voo,

O

I 302 Learning BLM 9.9: Choosing a Method for Multiplying Copyright © 2008 by Nelson Education Ltd.




o Name: Date:

9.9 Choosing a Method for Multiplying Page 2
e 3. 5 schools are getting together for a checkers tournament. O
Each school is bringing 100 students.
How many students will be at the tournament altogether?
Would youe number of students?
Explain or show what you would do.

T can Use merdel math 5 xloo=Eod

MMMM:W}; S5 XN =S00

4. The grocery store sells eggs in cartons of 12.
If you buy 3 cartons of eggs, will you have more or less than 30 eggs?
Would yol estimate or calculate the number of eggs?
Explain or show what you would do.

@ 4= -©
3x 10 = 30 (e kinsuws thnat there wil|
= mgrQ ton X0,
_Reflecting - 3

How did you decide when to use mental math?

LOnene o You dent  need an evack
Vuvnleer ~ b obhon ol canae
@' Mj Qi{nar QY dA-QQ?g-ﬁga_t;Q i g-:‘?ﬂ‘u‘gf)

How did you decide when to estimate?
N Can eg%wmk Whepyy, T See
b odooudt Weus Moy or 4o
(i i ) 72 \)cha\dmLu“Jo{l o
) O kot p
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Name: Date:

Choqsing a Method for Ma}"\w
! Multlplylﬂg 1 220 ~ 34O

N\ e -3

Choose whether to estimate or calculate, and W)\LJ\
explain your muitiplication method.

1. Jade can string 76 beads every hour. Which At-Home Help:

. M
question could you answer by estimating? Here are 3 methods you can
A. How many beads can Jade string in 10 hours? | use to solve multiplication
.. problems:

B. How many beads can Jade string in 12 hours? |, .cimate

Would Jade use more than 200 beads in * calculate using mental math

3 hours? * calculate using materials

) \. J

D. How many hours would it take for Jade to use 380 beads?

2. How would you answer each question: by estimating,
@ using mental math, or using base ten blocks?
a) A skateboard costs $325. . :
Can you buy 2 skateboards for $600? '65"'1 mod (o

b) Joshua earned 279 points at the school fair.
Diane earned 3 times as many points.

How many points did Diane earn? base 19 blocks
c) Aneela can type 42 words in a minute.
How many words can she type in 5 minutes? rY\en%al moffh

3. Matt and Hailey want to solve this problem:

A box of crayons holds 54 crayons. About how many crayons are in 9 boxes?

Matt says, “1 will use menta! math to solve the problem.
9 X 50 = 450, and 9 X 4 = 36. The answer is 450 + 36 = 486."

Hailey says, “1 will estimate to solve the problem. 9 is close to 10.
10 X 54 = 540, so the answer is about 540.”

Can both answers be correct? Explain your answer. \,QS} ot ansuics
@ 0N R0 »(“\8“\‘ beconse Ove is Js)'o\("g.,n esh ottt
and ¥he ooy 1S on exact Ccolculodion
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Choosing a Method to Multiply @

@ Choose and justify a multiplication method. }/lt

Use these facts in the questions below. At-Home Help
@The avelta.ge.Clanac-han consumes 25 kg of Look at the question to decide
fresh fruit in juices in 1 year. if an estimate will do,
* The average Canadian child watches 884 hours  Look at the numbers in a
of TVin 1 year. problem to decide if you can

solve it mentally or if you need

* A small roast beef submarine sandwich has )
to use pencil and paper,

954 kilojoules of energy.

1. You want to find out how many kilograms of fresh fruit in juices
a family of 6 consumes in 1 year. Would you use pencil and

paper or mental math? Explain your choice. Solve the problem iy
B QSMQ:J@S & coll wlode aﬁ%@:‘"
T coulde Use wondad Mo, g -5 O

i SRR
25x = 150 25
2. You want to find out about how many hours of TV a child +| 00
would watch in 9 yemw you estimate or do an exact \ 25 Kq
calculation? Explain your choice. Solve the problem. O'C' M

estmaly” 994 % I0=¢ 840
T vowmdsd Heo hng TO 19.0r 1L cans
courgl  love x gz Qoed and GLA ourtgl
_ aune oy Kivnode
3. You want to find out how many kilojoules of energy a person

would get from eating 1 small roast beef submafine sandwich
each day for a week. Would you use pencil and paper or mental

math? Why? Solve the problem. 80 . L:T

chl{,x—, G\QO:

T woubd Cobewdee 1 3 28

i u_wrped ol haxe € 9% 5o 2
) ,.o%wgeza%w. K ﬁ @ Y qﬁgj ﬁ\ﬂ:ﬁﬁiplying Greater Numbers 83
' /J\ /.. q Q
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@ Name:; Date:

9.10 Creating Multiplication Problems

Student Book page 341

' Create and solve multiplication problems. )

@ How can you create a story about multiplication?

Step 1: Understand the Problem
What do you have 1o do?

Have, a (2p0 afed numbar‘} W

_QyOuUpDSs e x5

Step 2: Make a Plan
Whagt is your story going to be about?

e wmede it aboul Meth minudes

What kinds of multiplication problems will be in the story?

‘ 1ISing Q \lar'ia‘p\f,}
Styadeqiest o] 4 2 dact '#orm)
~ Clrhunkd

What, strategies will you use to find the answer to the multiplication problems?

can esHriatl. g

A

Step 3: Carry Out the Plan
Wirite the pages of your story. Show how you solved the multiplication problems.

e x 5= a5 old s thedl

“he

LI

X
Step 4: Look Back Zﬁ

How do you know you made multiplication problems in your book?

Cart o ncukeyr them .

Copyright © 2008 by Nelson Education Ltd, Checking & Practising BLM 9.10: Creating Multiplication Problems | 395 |
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XY

:f - ab
§odS +A 00

oﬁNome:
9.10 Creating Multiplication Problems

Student Book page 341

‘ Create and solve multiplication problems.

Problem

Alec wrote a page for a book about multiplication.
He included a picture and a multiplication story.
He also wrote a multiplication fact.

His story told the answer fo the problem.

@ How can you create a story about multiplication?

Hint: First think of equal groups of things for a story.
Write the multiplication fact that goes with your story.

Write your story.

End your story with the answer o the multiplication problem.

Date:

™
crayons ﬂ . e

7x15
Kelly practised piano 15 minates

" adag every day of the week.

That makes 105 minutes.

/}—’lﬂu_) ;"ﬂﬁﬁ\{
Se’r o WL |

Sor 1o M nibes.
wp&ndQO? &Jﬁhﬂ

HO+ 8
. 5

Chumlc

A00 T &5
= Q39

"R D

.

mmufes o*f mg&-s‘?‘"g an we
B we Aok ey
Uex 5= ]

@X 5+ [Zk5  old schoo!

WCL ol X3S mmuéres

Joy

GshmaU
HO X B =g
LY rIo= Y

ifs
A D
AL

ot m::{% 6%

| 396 | memg BLM 2.10: Creanug Mulrprmnon Problem
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bt/ Creating Multiplication
@ Lé'ssb'ii Problems
R

Create and solve multiplication problems. ]

1. Fill in the blanks to write your own multiplication JEYRTE TR I
problems. 2 (-50 Follow these steps to create

a) 5'2 X 26 L2 your own muHiplication
. : ) problem.
Diane made 26 cookies every day. How many '
cookies did she make in days? Step 1 Think of 2 numbers td
multiply (e.g., 125 x 4).
. . Step 2 Write a problem using
Diane made ___] & cookies. Ha, Jour 2 numbers e.g., There
b) 3% Ha! . 3 are 125 raisins in a bag. How
= many raisins are in 4 bags?).
O Ken earns $__H2. every week. ~ 3/ oo 3 Solve .
How much does he earn in 3 weeks? ep your prooiem
(e.g., 500 raisins are in 4 bags).
\. y,

Ken earns $ 13'0 in 3 weeks.
\iow oWN <) _5_ x____ 150

42
- I
Jade made S _ necklaces with __ |90 _beads . 5;_3
in each necklace. How many beads did Jade use?

75 0

Jade used 750 beads.

2. Write a multiplication problem that uses the numbers »/.
4 and 213. Solve your problem,

Osma\(ﬁ has Cicl§2|3 earned i'n opne wieek.

How mudh mongy witl he nave 'n

- weeks? 2T e would
O % A houwe #3532,
%5 2
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Multiplying 2-digit Numbers
5 by -dlglt Nllmbers

w | ' B

e —— e —— S ——

4x23=7 Long way: 23 -— align the numbers on the right-hand side F
X 4 i
12 —4x3 =12
80 -—4x20 =80
92 -~—12+80=92
Short way: 23 ;Z 13 ‘f./é"-S
X 4i = X l_ J —_— X \'\_\4}
: 2 92
} } t
4x3=12 9=4x2+1

t

carried over from

align the numbers

t
on the right-hand carry 10 ones to the tens

column; keep 2 ones in the

side ones column the ones column [
4x23=92
 To do vertical multiplication the short way:
Muitiply the | A
ultiply the long way Align all the numbers on the right-hand
side.
@ 1 2 @ 2 4 Multiply the ones firdt.
X 4 X 3 Then multiply the tens.
- Remember to carry 10 ones to 1 ten in the
G 1+-4ax2 1) tens column.
-4 X1 Remember to add the tens carried over
‘f’ HL O x1Q + b O from the ones column after multiplylng
L’— 8 7 gu the tens diglt.
® 32 & 19 ©® 31 © 47
X 4 X S X 6 X 6
g HE b 49,
ng a5 1% 23 2




{ Name: Date:

j r9 Test Yourself-

Circle the correct answer.

1. What is the product? 5 X 300 = i l500

A. 1100 B. 1200 @1 500 D. 1800
2. Which number sentence does this array show?
Y lox'a + nxo
A. 6X 10 = 60 TEEERITREE '
BO6X17=6x10+6X7 Bk
C. 7%x12=7%X10+7 X2 SRl e 7
D. 10 X 60 = 600 b e
R %
3. What is the expanded form of 8537
@;900+50+3 B. 85 + 30 C.8+5+3 D.8 X 5X 3

. 4. Matt made 6 models. Each model used 29 small sticks.
About how many small sticks did Matt use?

A. 220 80 C. 120 D. 300

5. Jade used 521 beads for each of 4 necklaces 5:1\
How many beads did she use? ¥ '—}
A. 2840 B. 2804 C. 2484 @ 2084 aUg 11—

6. Which multiplication equation
does this model show?

A. 3 X 236 [ Hundreds Tens Ones

oaQoao

B.3 X 136 EEE aen

TR
D. 1 X 266 L g
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Test Yourself O

Circle the correct answer.

5 Grotps ot

A. 140 + 5 X 29 C.29 x4 D. 30 + 30 + 30 + 30 + 30

2. Which multiplication equation is modelled by this array?

______HERACRRE

E.4X22=4x20+4x? G.4X20=4Xx10+4x 10
F.23X4=20x4+3x4 H.4 X20=2x20+2x 20

3. The array in Question 2 could be broken into other arrays. L} 3
Which of these is possible? X

A 4X9+4x14 C.2 X 23 + 2 x 23 Qx@ﬂ"q- | O
3

B.4 x 11 1 4 X 17 D.25%X 4 +3x4

4. Miki used expanded form. What problem was she solving? 100+ 20 + 9
. No- &9 xiz.
E. How many eggs are in 129 dozen? X1
: T7aq —No 700
F. How many weeks are in 129 days? 7139 150
G. How many hours are in 7 days? 24 x7 —~No. + 63
my days are in 129 weeks?2? 129 X7 903 iz +3
5. Which estimate is the most reasonable for the prod = | Sgcf
of 389 x 47 Boo x4=12® o (Hoox 4= 160 x4
A. 1200 B. 1600 C. 2000 D. 700 155 4
6. What is the product of 638 x 67 639
E. 3828 F. 3688 G. 3728 H. 3888 :&_(O—
£x 6
7. The average Canadian eats 183 kg of vegetables in 1 year, ‘L # g 23:%5
How much does a family of 4 eat in 2 y 1 Y34 00 (ooor-b) .
A. 366 kg B. 732 kg | 1464kg } D.1098kg 37 o5 §
A X
84 Multiplying G Numb. = )TZSG(& ‘
ultip! ying Greater Numbers ¥, 2 ' = Gopyright € 2017 by Nelson Educa
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